. As a businessman which type of account you
would like to open in bank and why ?

T OO & T F MY S H DA T et
A AR F 2

. What do you mean by Innovative Banking ?

Throw light on the recent changes took place in
this regard.

THRAST SfeRT W SR o Ad § 2 39 WERY H
T & H S oafeds gu €, 31 W yenT e

. Explain the relationship of bank and customer in
brief.

Seh AR UEE H TERY il GO9T H TR RIS

. What do you mean by endorsement ? Explain its

importance.

TR § A9 1 GEE § 7 U Hed hl W
HIST |

. Write a critical note on NABARD (National Bank
for Agriculture and Rural Development).

qEE (TEE P TE A fohE SH) W T
ArerET® feooit fafem |

BC-17/4 (4) T-544

BC-17

June — Examination 2022

B.Com. (Part III) Examination

BANKING LAW AND PRACTICE
Paper : BC-17

Time : 1% Hours | [ Maximum Marks : 70

Note .— The question paper is divided into two Sections
A and B. Write answers as per the given
instructions.

fEer - ' TE-TF e’ o ‘A’ @ wrel # fawifea §1 wae
Trg & EIHER g9 & S S

Section—-A 4%x3%,=14
(Very Short Answer Type Questions)

Note .— Answer any four questions. As per the nature of
the question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 3% marks.
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(ii)

(iii)
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(vii)
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G ug—37
(afa oy 3T Ug)
fFsl o) v & S SANW) s et SWow

YITER TH I, T a9 A1 Afshan 30 sl A
qfidifqa w9 999 3% 37 @ B

What do you mean by Dishonour of
Cheque ?

F D AR F IR F W ¥ ?
What is e-Banking ?

-Sfm = T ?

Define letter of Credit.

HE-97 ! qRYIod wifSw |

Mention any two names of Bank Accounts.
Sk @I & KIS & AH H et HI |
What is meant by Time Deposits ?

o st ¥ N AwE § 2

Write two most important functions of
Commercial Banks.

aTforferes SRt & Tl Heequl af e fafe |
Mention any two names of Development
Banks operating in India.

gRa H wERa fR=l | fawm S@i & AW w@
Exgecaisd

T-544
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(viii) Define Merchant Banking.
T S w1 aitanfia wifeg

Section-B 4x14=56

(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 14 marks.

T ug—d
(g I T99)

o - fF=l 9 9w & S S o9 et Sl

sfasram 200 v H OUfEfga SifSTl ToE T9H

14 3% 7 B

. “Loans are the children of deposits and deposits

are the children of loans.” Flucidate this statement.
“sror STt & Ry B € IR S wvi & fryg @
BId 1" 39 wud & faemm wifsu)

. Throw light on the three-tier structure of co-

operative banking.

HehNl ST & -9 &9 W gehe Sifau |

. What are the investment principles ? Explain them

in brief.

oo

fafeH & A9 fagra © ? S< 999 § 99l
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